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Q1. P= 350, AC=200, profit is 

a) 150 
b) 550 
c) 100 
d) 50 



 

 

Q2.A firm will shut down it operation if its 

a) Revenue is just equal to variable cost and the loss is 
equal to fixed cost 

b) Earning covers variable costs as well as a part of fixed 
costs. 

c) Average revenue falls below average variable cost 
d) Firms in the short run never shut their operations 

 



 

 

 

Q3. Under monopolistic selling cost is 

a) Nil 
b) Small 
c) Large 
d) All of the above 

 



 

 

 

Q4. Which of the following is not a feature of zero profit 
situation 

a) The output of the firm makes nil profit 
b) Marginal cost equal fixed cost 
c) Revenue just covers costs 
d) Price equals average cost 



 

 

 

Q5. If a firm in perfect competition earns a revenue of 5000 
by selling 20 output then what is the marginal cost? 

a) MC cannot be calculated 
b) 25 
c) 250 
d) 20 



 

 

Q6. Arrange the following market in ascending order 
according to number of firms 

1)perfect competition 2)duopoly 3)oligopoly 4)monopoly 5) 
monopolistic 
      a)   2,3,1,4,5 
       b) 1,2,3,4,5 
        c) 4,2,5,3,1 
         d) 4,2,3,5,1 



 

 

 

Q7. P=min LAC is found in    _____ market. 

a) Monopoly 
b) Perfect competition 
c) Monopolistic 
d) Both b and c 

 



 

 

Q8. Which of the following statements about the market supply curve for a product 
is false? 
 
a)The market supply curve represents the individual supply curves of all firms which 
produce the product added together. 
 
b)The market supply curve may shift if there is a change in the behaviour of some 
firms which produce the product. 
 
c)The market supply curve may shift if there is change in the price of the product. 
 
d)The market supply curve may shift if there is a change in the number of firms which 
supply the product. 



 

 

 
 
9. CIC -N -SIC accepts public funds 

(a) True 
(b) False 
(c) Cannot say 
(d) None 

 
 



 

 

 
Q10. _____is a company registered as NBFC to facilitate 
the flow of long term debt into infrastructure projects 

(a) IDF 
(b) SIC 
(c) AMC 

 
(d) All of the above 

 



 

 

Q11 loan disbursed by an NBFC-MFI to a borrower with a 
rural household annual income 
not exceeding Rs. ____ or urban and semi-urban household 
income not exceeding 
Rs. ______ 

(a) 100000,100000 
(b) 100000,1000000 
(c) 150000,250000 
(d) 100000,160000 



 

 

 
Q12. Until the end of the nineteenth century, securities 
trading was unorganized and the main trading centres were 
Bombay(now Mumbai) and ______ 
 

(a) Chennai 
(b) Kanpur 
(c) Delhi 
(d) Kolkata 



 

 

 
 
Q13. The first joint stock company was established on ------ 

(a) 1850 
(b) 1950 
(c) 1947 
(d) 1990 

 
 



 

 

 
Q14. The Bombay Stock Exchange was recognized in ___ 
under the Bombay Securities Contracts Control Act, 1925. 

(a) May 1990 
(b) May 1947 
(c) May 1927 
(d) May 1937 

 
 



 

 

 
Q15. The holders of  “these ‘’ shares are the real owners of 
the company. They have a control over 
the working of the company, here “these’’ refers to  

(a) Preference shares 
(b) Equity shares  
(c) Debentures 
(d) Redeemed shares  

 



 

 

 
 
Q16. ______ is the offer of shares which the company 
makes to the general 
public for the first time 

(a) FPO 
(b) IPO 
(c) Both  
(d) None 



 

 

 
Q17.___________________ is an online procurement platform for government 
ministries and departments, and the most widely used channel for public procurement 
in India. 

 (a) Government e Manufacturing Plan  

(b) Government e Model place  

(c) Government e Marketplace  

(d) Government e Manufacturing place 



 

 

Q18. ____________ is a long-term security yielding a fixed 
rate of interest, issued by a company and secured against 
assets. 

 (a) Debenture  

(b) Preference share  

(c) Equity share  

(d) Treasury Bills  



 

 

Q19. ________ is an index of price changes of goods and 
services included in GDP.  

(a) GDP Deflator  

(b) GDP Inflator  

(c) GDP Multiplier  

(d) GDP Accelerator  

 



 

 

 
Q20. From the following information compute Private Income  
NNP at Factor Cost = INR 5000 crore 
 Transfer Payments = INR 500 crore  
Interest on Public Debt = INR 200 crore 
 Social Security disbursements = INR 100 crore  
Profits and Surpluses of Public Undertakings = INR 400 crore 
 (a) INR 6200 crore  
(b) INR 5200 crore  
(c) INR 5400 crore  
(d) INR 6000 crore  



 

 

Q21. If a commodity takes more time to produce then the 
elasticity is __________  

 (a) Perfectly Elastic Supply  

(b) Unitary Elastic Supply  

(c) Relatively Greater Elastic Supply 

 (d) Relatively Less Elastic Supply  



 

 

Q22. Small Finance Banks are licensed under Section 22 of 
the _____________ 

 (a) Banking Regulation Act, 1949 

 (b) Negotiable Instruments Act, 1881 

 (c) Reserve Bank of India Act, 1935  

(d) Indian Contract Act, 1872 27.  



 

 

 

Q23.A depreciation of the U.S. dollar relative to foreign 
currencies will make 

a. foreign imports less expensive in the United States.  
b. U.S. exports less expensive in foreign countries.  
c. the demand for U.S. exports decrease.  
d. All the above is correct 
 



 

 

 
Q24.The value of the U.S. dollar on the foreign exchange market will tend to 
 
 
a. increase if there is an increase in the demand for U.S. exports by foreign 
countries. . 
b. b)decrease if there is an increase in the demand for foreign imports by the 
United States.  
c. decrease if monetary authorities intervene on the foreign exchange market by 
selling U.S. dollars  

d. all the above is correct 
 



 

 

 

Q25.A monopolist produces 14,000 units of output and charges $14 per unit. Its 
marginal revenue is $8, its marginal cost is $7 and rising, its average total cost is $10, 
and its average variable cost is $9. The monopolist should 

 
a. increase output, which will reduce the firm's economic losses.  
b. shut down, which will reduce the firm's economic losses.  
c. decrease output, which will result in an increase in the firm's positive economic 
profit. 
d. Increase output,so increases the profit  

 



 

 

 
 
 
26. compute the national income when the population is 3 
crore and per capita income is 2000 
a. 6000 
b.2000 
c.3000 
d.10000 



 

 

 
 
Q27.Which of the following types of firms is likely to be a 
monopolistic competitor? 

a. A local telephone company.  
b. An automobile manufacturer.  
c. All of the above are likely to be monopolistic 
competitors. 
d. A restaurant  



 

 

 
 

Q28.Which of the following is a differentiated product? 

a. A hamburger. 
b. A shirt. 
c. An automobile. 
d. All the above 
 



 

 

 
 
Q29.FRBM Act was passed in ________: 

(a)    1999 
(b)    2000 
(c)     2003 
(a)    2004 
 
 



 

 

 
Q30. The most important sources of plan finance to cover 
up gap between intended expenditure and available resource 
is in: 

(a)    Direct taxes 
(b)    Indirect taxes 
(c)     Deficit financing 
(d)    Foreign aid 



 

 

 
 
Q31 Fiscal Policy refers to a policy of : 

(a)    Money lenders 
(b)    Government Finance 
(c)     Commercial banks 
(d)    Monetary authority 
 
 



 

 

 

 

Q32. Deficit Financing means : 

(a)    Public expenditure in excess of public revenue 
(b)    Public revenue in excess of public expenditure 
(c)     Both (a) & (b) 
(d)    None 
 



 

 

Q33. Consider the following statement (s) is/are related to the annual financial statement (Budget) 
 
I. The annual financial statement is divided into three parts, consolidated fund, contingency fund and 
public account. 
II. All revenues raised by the government, money borrowed and receipts from loans given by the 
government flow into the consolidated fund of India. 
III. Article 112 of the Constitution requires the government to present to Parliament a statement of 
estimated receipts and expenditure in respect of every financial year. 
Select the correct statement (s): 
A Only I 
B Only II 
C Both I & II 
D I, II and III 



 

 

 
Q34.  Which of the following Yojna gave nominal premium 
and highest ever compensation in case of crop loss? 

(a) A PM Fasal Bima Yojna 
(b) B PM Krishi Sinchai Yojna 
(c) C Shyama Prasad Mukherji Rurban Mission 
(d) D Pramaparagat Krishi Vikas Yojna 

 



 

 

Q35. Select the incorrect phase of budget process in India. 

(a) Budget formulation: the preparation of estimates of expenditure and receipts for 
the ensuing financial year; 

(b)  Budget enactment: approval of the proposed Budget by the Legislature through 
the enactment of Finance Bill and Appropriation Bill 

(c)  Budget execution: enforcement of the provisions in the Finance Act and 
Appropriation Act by the government—collection of receipts and making 
disbursements for various services as approved by the Legislature 

(d)  Judicial review of budget implementation: audits of government’s financial 
operations on behalf of the Legislature 
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1.SVAMITVA” scheme is implemented by which Union 
Ministry? 

 [A] Ministry of Agriculture 

[B] Ministry of Rural Development 

[C] Ministry of Housing and Urban Affairs 

[D] Ministry of Panchayat Raj 



 

 

2.Lokapriya Gopinath Bordoloi Award for National 
Integration and National Contribution” is awarded by which 
state?  

[A] Maharashtra 

[B] Odisha 

[C] Assam 

[D] Tamil Nadu 



 

 

 

3.Mahesh Kanodia, who recently passed away, is a famous 
musician and former MP from which state? 
[A]Karnataka 
[B]Gujarat 
[C]Assam 
[D] Andhra Pradesh 
 
 



 

 

 
 
4.Soumitra Chatterjee, who recently passed away, is 
associated with which field? 
[A]Sports 
[B]Journalism 
[C]Cinema 
[D] Politics 
 



 

 

 
5.Which district has been selected for the ‘Best Marine 
District’ award by the Ministry of Fisheries, Animal 
Husbandry and Dairying? 
[A]Krishna 
[B]Kozhikode 
[C]Chennai 
[D] Ahmadabad 
 



 

 

 
 
6.Gyalyum Sangay Choden Wangchuck, who was awarded 
the United Nations Population Award, is the Queen Mother 
of which country? 
[A]Myanmar 
[B]Malaysia 
[C]Bhutan 
[D] Nepal 



 

 

 
7.Ahmed Patel, who recently passed away, was a veteran 
leader of which political party? 
[A]RashtriyaJanataDal 
[B]IndianNationalCongress 
[C]BharathiyaJanataParty 
[D] Trinamool Congress 
 
 



 

 

 
8.Which Indian industrialist is known as the ‘Father of 
Indian IT Industry’? 
[A]FaqirChandKohli 
[B]AzimPremji 
[C]DhirubaiAmbani 
[D] N R Narayana Murthy 
 
 



 

 

 
9.Shashi Shekhar Vempati, who has been elected as the 
Vice President of Asia Pacific Broadcasting Union, is 
presently the CEO of which organization? 
[A]PrasarBharati 
[B]NTPC 
[C]ONGC 
[D] Airtel 
 



 

 

 
10.Who has been conferred with the ‘ASSOCHAM 
Enterprise of the Century Award’? 
[A]AdiGodrej 
[B]MukeshAmbani 
[C]RatanTata 
[D] Uday Kotak 
 
 



 

 

 
 
11.Which is the first private sector Defence company to be 
granted Green channel status? 
[A]L&TDefence 
[B]TataGroup 
[C]BharatForge 
[D] Kalyani Group 
 



 

 

 
 
12.Zhong Shanshan, who replaced Mukesh Ambani as 
Asia’s richest person, is from which country? 
[A]Singapore 
[B]China 
[C]Japan 
[D] Thailand 
 



 

 

 

13. Sultan Qaboos bin Said Al Said, the recipient of Gandhi 
Peace Prize 2019, was the head of which country? 

[A]Kuwait 
[B]UAE 
[C]Oman 
[D] Bangladesh 
 



 

 

 

14. Who has been appointed as the new Department of 
economic affairs (DEA) secretary, succeeding Tarun Bajaj? 

[A]AjaySeth 
[B]BPKanungo 
[C]AnilKumarJha 
[D] R Gandhi 
 



 

 

 
15.Who has been appointed as the new Chairman and 
Managing Director of SIDBI? 
[A]RajnishKumar 
[B]SRamann 
[C]ArundhatiBhattacharya 
[D] R Gandhi 

 



 

 

 NLK CSEET MARATHON TEST SERIES -6 
           BUSSINESS COMMUNICATION 
 
 
 
 
 

(1-15 MCQs x 2 Marks = 30 Marks)  

(16 -35 MCQs x 1 Mark = 20 Marks) 



 

 

 
1. The term “communis” derived from ___word. 

a.Greek. 

b.Latin. 

c.Chinese. 

d.English. 



 

 

2. Communication means ___information, feeling and 
thoughts, with others. 

a.To receive. 

b.Exchange of. 

c.Conveying. 

d.All the above. 



 

 

3. Grapevine communication is associated with 
_____communication. 

a.Formal 

b.Informal 

c.Horizontal 

d.Vertical. 



 

 

4. Lateral communication is between 

a.Superior and subordinate. 

b.Same cadre of personal. 

c.Subordinate and superior. 

d.Among all. 

 



 

 

 

5. Audio Visual communication combines 

a.Auditory only. 

b.Visual only. 

c.Both auditory & visual. 

d.Written. 



 

 

6. Communication problems otherwise known as 

a.Enquire. 

b.Barriers. 

c.Encoding. 

d.Decoding. 

 



 

 

7. Posters fall under _______communication. 

a.Oral. 

b.Visual. 

c.Written. 

d.Spoken. 



 

 

8. Informal communication is otherwise known as ______ 
communication. 

a.Grapevine. 

b.Lateral. 

c.Visual. 

d.Horizontal. 



 

 

9. Horizontal communication flows through _______ 

a.Face-to-face discussion. 

b.Telephonic talk. 

c.Periodical meeting. 

d.All the above. 

 



 

 

 

10. Gestural communication is a ______ 

a.Non-Verbal Message.  

b.Direct conversation. 

c.oral communication 

d.Written. 



 

 

 

11. Physical Barriers to communication are ______ 

a.Time and distance. 

b.Interpretation of words. 

c.Denotations. 

d.Connotations. 



 

 

12. Communication is derived from a Latin word 
“Communis” which means 

a. Community 

b. Share 

c. Common 

d. Marxist 



 

 

13. Communication starts with: 

a. Encoding 

b. Sender 

c. Channel 

d. Feedback 



 

 

14. The number of key elements in the communication 
process is : 

a. Five 

b. Six 

c. Seven 

d. Four 



 

 

15. The two broad areas of communication are: 

a. Oral and written communication 

b. Verbal and written communication 

c. Verbal and non-verbal communication 

d. Oral and non-verbal communication 



 

 

16. Which of the following combination is /are example/s of 
oral communication? 

a. Meetings, memos and presentations 

b. Meetings, memos and performance reviews 

c. Meetings, presentations and performance reviews 

d. All the above 



 

 

17. Which of the following combination is /are example/s of 
written communication? 

a. Letters and voicemail 

b. Reports and email 

c. Circulars and voicemail 

d. All the above. 



 

 

18. Orders and directives are the example of: 

a. Downward communication 

b. Upward communication 

c. Diagonal communication 

d. Horizontal communication 



 

 

19. Communication between HR manager and salesman is 
an example of: 

a. Horizontal communication 

b. Lateral communication 

c. Diagonal communication 

d. Vertical communication 



 

 

 

20. Diagonal communication is also known as: 

a. Cross ward communication 

b. Horizontal communication 

c. Vertical communication 

d. Any of the above 



 

 

21. Communication between HR manager and Finance 
manager is an example of: 

a. Downward communication 

b. Upward communication 

c. Diagonal communication 

d. Horizontal communication 



 

 

22. Down ward communication and Upward 
communication are : 

a. Vertical communication 

b. Horizontal communication 

c. Diagonal communication 

d. None of these 



 

 

23. Placement of purchase order to supplier of material is ---
------- communication. 

a. Vertical communication 

b. Horizontal communication 

c. Internal communication 

d. External communication 



 

 

 

24. Receiving a sales order is an example of: 

a. Vertical communication 

b. Horizontal communication 

c. Internal communication 

d. External communication 



 

 

 

25. --------- Communication can be inward or outward: 

a. Vertical communication 

b. Horizontal communication 

c. Internal communication 

d. External communication 



 

 

26. Functional coordination is one important reason for 
communicating with: 

a. Superiors 

b. Peers 

c. Subordinates 

d. Employees’ unions 



 

 

 

27. Communication with superiors involves: 

a. Directions 

b. Orders 

c. Complaints 

d. Instructions 



 

 

28. Listening has been identified as one of the “seven habits 
of highly effective people” 

by : 

a. Lundsteen 
b. Stephen Covey 
c. Lee Iacocca 
d. Tom Peters 



 

 

 

29. The most basic type of listening is known as : 

a. Discriminative listening 

b. Comprehension listening 

c. Appreciative listening 

d. Evaluative listening 



 

 

 

30. Dialogic listening is also known as: 

a. Empathetic listening 

b. Therapeutic listening 

c. Relational listening 

d. Active listening 



 

 

 

31. Readability is determined mainly by : 

a. Punctuation 

b. Length of words 

c. Active and passive voice 

d. Spelling 



 

 

 

32. FOGINDEX is used to measure: 

a. Clarity of message 

b. Courtesy of message 

c. Readability of message 

d. All the above. 



 

 

 

33. A message may be understood by an average educated 
person, if FOGINDEX is: 

a. More than 15 
b. Less than 15 
c. Negative 
d. Zero 



 

 

 

34. Communication is a ___________ 

a.one way process 

b.Two way process 

c.Three way process. 

d.four way process 



 

 

 

35. The main objective of communication is: 

a.Information and persuasion. 

b.Skill and personality development. 

c.Control and management. 

d.Need. 
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1. Article _______of Indian Constitution discusses the 
concept of Right to equality. 

a) Article 5 

b) Article 11 

c) Article 12 

d) Article 14 

 



 

 

 

2. Which Article is related with “Abolition of 
Untouchability”? 

a) Article 20 

b) Article 19 

c) Article 18 

d) Article 17 



 

 

 

 

3. Which of the following is called ‘Mini Constitution’? 

a) Government of India Act, 1935 

b) 42nd Constitutional Amendment 

c) 44th constitutional amendment 

d) Government of India Act, 1919 



 

 

 

4. Which of the following statements is false? 

a) Most of the structure of the Indian Constitution has 
been taken from the Government of India Act, 1935. 

b) The original constitution had 10 schedules 

c) The part related to Polity of the Indian Constitution is 
taken from the British Constitution 

d) Article 368 is related to the constitutional amendment 



 

 

 

5. What is known as a charter of a Company? 

a) Memorandum of Association 

b) Bye Laws  

c) Article of Association 

d) Prospectus 

 



 

 

 

6. Which of the following feature is not essential for a 
contract? 

a) It should be in writing only 

b) free consent of parties competent to contract 

c) lawful consideration and with a lawful object 

d) It should not be declared void expressly 



 

 

 

7. A person who is the husband of my son’s sister is my 

a) Nephew 

b) Son-in-law 

c) Son 

d) Brother 

 



 

 

 

8. In a row of trees, one tree is fifth from either end of 
the row. How many trees are there in the row? 

a) 8 

b) 9 

c) 10 

d) 11 



 

 

 

9. Look at this series: 12, 11, 13, 12, 14, 13, … What 
number should come next? 

a) 10 

b) 16 

c) 13 

d) 15 



 

 

 

10. Which word does NOT belong with the others? 

a) Tyre 

b) Steering Wheel 

c) Car 

d) Engine 

 



 

 

 

11. In which year, Article 370 of Indian Constitution is 
abrogated? 

a) 2016   

b) 2017 

c) 2018 

d) 2019 



 

 

 
12. What is the meaning of adjournment ‘sine die’? 

a) Terminating a sitting of the state legislature for an indefinite period 

b) Terminating a sitting of the state legislature for some hours 

c) Terminating a sitting of the state legislature for some days 

d) Terminating a sitting of the state legislature for some months 

 

 



 

 

 

13. The Supreme Court of India at present contains the 
following number of Judges? 

a) 25 judges 

b) 34 judges 

c) 20 judges 

d) 30 judges 



 

 

 

14. Every promise and every set of promises forming the 
consideration for each other 

a) A proposal 

b) An offer 

c) An agreement 

d) None of above 



 

 

 

15. A proposes by letter to sell a house to B, the 
Communication of the proposal is complete 

a) When A make such proposal 

b) When B accepts the proposal 

c) Both (a) and (b) 

d) None of above 
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1. Choose the appropriate article (a, an, the) to fill in the 
blank: 

I waited for ………………………….. hour and then I went 
home. 
a) a 
b) an 
c) the 
d) No article 



 

 

2. Give Synonym for the following word:  

Enervate 

a) Enclose 

b) Weaken 

c) Liberate 

d) Pledge 



 

 

3. Give Antonyms for the following word: 

Morbid 

a) Healthy 

b) Liberal 

c) Progressive 

d) Stale 



 

 

4. Choose the correct spelling 

a) Deceeve 

b) Decive 

c) Diecieve 

d) Deceive 



 

 

5. Choose the explanation that catches the spirit of the 
idiom/phrase 

A snake in the grass 

a)A secret or hidden enemy 
b) An unreliable person 
c) Unforeseen happening 
d) A dangerous enemy 



 

 

6. Choose the correct option for the underlined part of 
sentence to make the sentence  
grammatically correct. 
I am tired as I am working since 7 O'clock in the morning. 
a) I was working 
b) I have been working 
c) I had been working 

d) I will be working 



 

 

7. The type of communication which usually takes place 
between people of the same  

status/level of hierarchy in the organization is called_____ 

a) Upward 
b) Downward 
c) Horizontal 
d) Diagonal 



 

 

8. ‘PDA’ under digital communication stand for: 

a) Personal digital assistant 

b) Personal daily assistant 

c) Professional digital action 

d) Professional daily assistant 



 

 

9. ____________ to communication may occur if the 
transmitter and receiver assign different  
meanings to the same word or use different words for the 
same meaning. 
a) Semantic barriers 
b) Physical barriers 
c) Socio-Psychological barriers 
d) None of the above 



 

 

10. The sum of money lent on which interest is being paid is 
called: 

a) Principal 

b) Amount 

c) Proxy 

d) Installment 



 

 

11. ‘Whom’, ‘Which’ and ‘That’ are covered under which 
of the following Pronouns? 

a. Relative Pronoun 

b. Personal Pronoun 

c. Possessive Pronoun 

d. None of the above 



 

 

12. Additional and Auxiliary are synonyms of which of the 
following words? 
a. Adept 
b. Accessory  
c. Adequate 
d. Adherent 

Based on the passage given below answer the questions 
following the passage- 



 

 

 
3. Murdstone and Grinby’s warehouse was at the waterside. It was down in  
Blackfriars. Modern improvements have altered the place; but it was the last house  
at the bottom of a narrow street, curving downhill to the river, with some stairs at  
the end, where people took boat. It was a crazy old house with a wharf of its own,  
abutting on the water when the tide was in, and on the mud when the tide was out,  
and literally over-run with rats. Its panelled rooms, discoloured with the dirt and  
smoke of a hundred years, I dare say; its decaying floors and staircase; the  
squeaking and scuffling of the old grey rats down in the cellars; and the dirt and  
rottenness of the place; are things, not of many years ago, in my mind, but of the  
present instant. They are all before me, just as they were in the evil hour when I  
went among them for the first time, with my trembling hand in Mr. Quinion’s. 
Murdstone and Grinby’s trade was among a good many kinds of people, but an  
important branch of it was the supply of wines and spirits to certain packet ships.  
I forget now where they chiefly -went, but I think there were some among them  



 

 

that made voyages both to the East and West Indies. I know that a great many  
empty bottles were one of the consequences of this traffic, and that certain men  
and boys were employed to examine them against the light, and reject those that  
were flawed, and to rinse and wash them. When the empty bottles ran short, there  
were labels to be pasted on full ones, or corks to be fitted to them, or seals to be  
put upon the corks, or finished bottles to be packed in casks. All this work was my  
work, and of the boys employed upon it. I was one. 
There were three or four of us, counting me. My working place was established in a corner  
of the warehouse, where Mr. Quinion could see me, when he chose to stand up on the  
bottom rail of his stool in the counting-house, and look at me through a window above the  
desk. Hither, on the first morning of my so auspiciously beginning life on my own account, 
the oldest of the regular boys was summoned to show me my business. His name was Mick  
Walker, and he wore a ragged apron and a paper cap. He informed me that his father was  
a bargeman, and walked, in a black velvet head-dress, in the Lord Mayor’s Show. He also  
informed me that our principal associate would be another boy whom he introduced by  
the—to me—extraordinary name of Mealy Potatoes. I discovered, however, that this  
youth had not been christened by that name, but that it had been bestowed upon him in  



 

 

the warehouse, on account of his complexion, which was pale or mealy. Mealy’s father was  
a waterman, who had the additional distinction of being a fireman, and was engaged as  
such at one of the large theatres; where some young relation of Mealy’s—I think his little  
sister—did Imps in the Pantomimes. 
No words can express the secret agony of my soul as I sunk into this companionship;  
compared these henceforth every day associates with those of my happier childhood— 
not to say with Steerforth, Traddles, and the rest of those boys; and felt my hopes of  
growing up to be a learned and distinguished man, crushed in my bosom. The deep  
remembrance of the sense I had, of being utterly without hope now; of the shame I felt  
immy position; of the misery it was to my young heart to believe that day by day what I  
had learned, and thought, and delighted in, and raised my fancy and my emulation up by,  
would pass away from me, little by little, never to be brought back any more; cannot be  
written. 

 



 

 

13. The warehouse of Murdstone and Grinsby was 
located___________ 

a. in an old building near the prison 

b. on decaying floors and squeaky stairs 

c. at the waterside down in Blackfriars 

d. downhill to the river 



 

 

14. The writer’s workplace was established__________ 

a. in the front office 

b. in the front office 

c. in a corner of the warehouse 

d. in the middle of the warehouse  

 



 

 

15. Mr Quinion could look at the narrator____________ 

a. from above his desk 

b. through the comer of his eyes 

c. by standing on a stool 

d. through a window above his desk 



 

 

16. The boy appointed to show the narrator his business 
was_____________. 

a. Mick Walker 

b. Grinby 

c. Murdstone 

d. Mealy 



 

 

17. The youth was christened by that name because 
__________. 

a. he wanted it that way 

b. he had a pale complexion 

c. it was his parents’ choice 

d. it was his childhood name  



 

 

18. Which of the following is the first step in the 
communication process? 

a. Encode 

b. Decode 

c. Develop an Idea  

d. Transmit 



 

 

 

19. Some listeners suffer from a defeatist attitude. Hence, underestimate their self- 

capabilities and decide in advance that they cannot understand what they are going  

to hear. This is covered under which of the following barriers of listening? 

a. Intolerance  

b. Partial Listening 

c. Disinterestedness 

d. Diffidence  



 

 

20. Which of the following is not there in the letterhead of a 
company? 

a. Number of employees 

b. Company logo  

c. Corporate Identification Number 

d. Name and address of Registered Office and Corporate 
Office 
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1. Arrange the words given below in a meaningful sequence. 
1. Caste 
2. Family 
3. Newly married Couple 
4. Clan 
5. Species 
 

A.2, 3, 1, 4, 5 
B.3, 4, 5, 1, 2 
C.3, 2, 1, 4, 5 
D.4, 5, 3, 2, 1 

 



 

 

2. Pointing to Gopi, Nalni says, "I am the daughter of 
the only son of his grandfather." How Nalni is related to 
Gopi? 

A.Niece 
B.Daughter 
C.Sister 
D.Cannot be determined 

 



 

 

 
3. A's son B is married with C whose sister D is married 
to E the brother of B. How D is related to A? 

A.Sister 
B.Daughter's-in-law 
C.Sister-in-law 
D.Cousin 

 



 

 

 
4. Pointing to a lady a person said, "The son of her only 
brother is the brother of my wife." How is the lady 
related to the person? 

A.Maternal aunt 
B.Grandmother 
C.Sister of father-in-law 
D.None of these 



 

 

 
5.. Pointing to a girl Sandeep said, "She is the daughter 
of the only sister of my father." How is sandeep related 
to the girl? 

A.Uncle 
B.Cousin 
C.Father 
D.Grandfather 



 

 

 
6. Pointing to a boy in the photograph Reena said, "He 
is the only son of the only child of my grandfather." 
How Reena is related to that boy? 

A.Mother 
B.Sister 
C.Aunt 
D.Cannot be determined 



 

 

 
7. Pointing towards a girl, Abhisek says, "This girl is the 
daughter of only a child of my father." What is the 
relation of Abhisek's wife to that girl? 

A.Daughter 
B.Mother 
C.Aunt 
D.Sister 



 

 

8. Anupam said to a lady sitting in a car, "The only 
daughter of the brother of my wife is the sister-in-law of 
the brother of your sister." How the husband of the lady 
is related to Anupam? 

A.Maternal uncle 
B.Uncle 
C.Father 
D.Son-in-law 



 

 

 
9. A is the son of C; C and Q are sisters; Z is the mother 
of Q and P is the son of Z. Which of the following 
statements is true? 

A.P and A are cousins 
B.P is the maternal uncle of A 
C.Q is the maternal grandfather of A 
D.C and P are sisters 



 

 

10. M is the father of N who is the son of V. In order to 
know the relation of M to P, which of the 
statement/statements is/are necessary?  

P is the brother of V. 
The daughter of N is the granddaughter of V. 
     A.Only (1) 

B.Only (2) 
C.Either (1) or (2) 
D.(1) and (2) both 

 



 

 

11.  

Options : 

A - 2 

B - 9 

C - 5 

D - 8 



 

 

12.  

Options : 

A - 7 

B - 9 

C - 6 

D - 8 

 

. 



 

 

13. 

OPTIONS: 

A - 15 

B - 17 

C - 19 

D - 21 



 

 

14. 

Options : 

A - 4 

B - 9 

C - 11 

D - 7 



 

 

15.  

Options : 

A - 5 

B - 7 

C - 8 

D - 12 

 



 

 

16. 

Options : 

A - 25 

B - 14 

C - 62 

D - 33 

 



 

 

17.  

Options : 

A - 68 

B - 89 

C - 85 

D - 90 



 

 

18. 

Options : 

A - 14 

B - 18 

C - 23 

D - 12 

 
 
 
 
 



 

 

19. Arrange the words given below in a meaningful sequence. 
1. Leaf 
2. Fruit 
3. Stem 
4. Root 
5. Flower 
 

A.3, 4, 5, 1, 2 
B.4, 3, 1, 5, 2 
C.4, 1, 3, 5, 2 
D.4, 3, 1, 2, 5 

 
 



 

 

20. Arrange the words given below in a meaningful sequence. 
1. Nation 
2. Village 
3. City 
4. District 
5. State 
 

A.2, 3, 4, 5, 1 
B.2, 3, 4, 1, 5 
C.1, 3, 5, 4, 2 
D.1, 2, 3, 4, 5 

 



 

 

 
 
 
 
 
 
 
 



 

 

 
 
 
 
 
 
 
 



 

 

 
                ECONOMICS  AND BUSSINESS ENVIRONMENT 
 
 
 

1 A 2 a 3 c 4 b 5 a 

6 d 7 d 8 c 9 a 10 d 

11 d 12 d 13 a 14 c 15 b 

16 b 17 c 18 a 19 a 20 B 



 

 

21 d 22 a 23 b 24 d 25 d 

26 a 27 d 28 d 29 C 30 c 

31 b 32 a 33 d 34 a 35 D 

 
 
 
 
 
 
 
 



 

 

                        CURRENT AFFAIRS 
 

1 B 2 c 3 b 4 C 5 A 

6 c 7 c 8 a 9 A 10 C 

11 a 12 b 13 c 14 A 15 B 

 
 
 
 
 
 



 

 

                               

                       BUSSINESS.COMMUNICATION  
 
 
 

1 B 2 b 3 b 4 b 5 C 

6 B 7 b 8 a 9 D 10 A 

11 A 12 B 13 b 14 a 15 C 

16 C 17 b 18 a 19 c 20 A 



 

 

21 d 22 a 23 d 24 d 25 D 

26 B 27 C 28 b 29 a 30 D 

31 b 32 C 33 B 34 B 35 A 

 
 
 
 
 
 
 
 
 



 

 

 
 
 
 

                           LEGAL APTITUD 
 

1 D 2 D 3 b 4 b 5 A 

6 a 7 b 8 b 9 d 10 C 

11 d 12 a 13 B 14 c 15 B 

 
 



 

 

 
 
 

                              PRESENTATION SKILLS 

 

1 b 2 b 3 a 4 D 5 A 

6 b 7 c 8 a 9 a 10 A 

11 a 12 B 13 c 14 C 15 D 

16 a 17 b 18 c 19 d 20 A 



 

 

 
 

                                 LOGICAL REASONING 
 

1 c 2 c 3 b 4 c 5 b 

6 b 7 b 8 d 9 B 10 a 

11 D 12 C 13 b 14 d 15 C 

16 d 17 c 18 d 19 b 20 A 

 



 

 

 

    Thank you  
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